



❖ Recordemos

2 números enteros con igual signo: RESULTADO **POSITIVO**

MULTIPLICACIÓN	DIVISIÓN
$(+2) \times (+3) = +6$	$(+6) : (+3) = +2$
$(-2) \times (-3) = +6$	$(-6) : (-3) = +2$

2 números enteros con distinto signo: RESULTADO **NEGATIVO**

MULTIPLICACIÓN	DIVISIÓN
$(+2) \times (-3) = -6$	$(-6) : (+3) = -2$
$(-2) \times (+3) = -6$	$(+6) : (-3) = -2$

❖ Resolvemos

$(+3) \times (+8) =$

$(+15) : (+3) =$

$(+7) \times (-4) =$

$(+30) : (-5) =$

$(-2) \times (+9) =$

$(-54) : (+6) =$

$(-6) \times (-5) =$

$(-63) : (-9) =$

$$(+30) : (+6) =$$

$$(-45) : (+5) =$$

$$(-24) : (-2) =$$

$$(+56) : (-4) =$$

$$(+56) : (+7) =$$

$$(-24) : (+8) =$$

$$(+32) : (+8) =$$

$$(-78) : (+6) =$$

$$(-60) : (+3) =$$

